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1. BaCl, + 2 AgNO; > 2AgCl + Ba (NOs3),

a. If 1.25 grams of the barium chloride reacts by the above reaction, what is the theoretical vield in
grams of the silver chloride ? {FW(BaCl,) = 208.23 g/mol FW(AgCI) = 143.31 g/mol } (15 pts)
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b. Will the reaction go as shown ? Consult the solubility chart & explain. (5 pts) . -
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c. If Thave 2.55-moles of the pari Enitrate , how many atoms of oxygeg do I have (Na =6.022 x 10%)
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3. What is the oxidation state of the following ? Either ex
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4. Extra Credit (10 pts) Given the combined gaslaw PV, = Tp

PV, T:
I'have a gas Nz at 772.1 torr, at 298 K in a closed area of volume 1 2 Liters. If the volume changes to 1.6
Liters and the temperature measures 278 K, what is the pressure in atmospheres ? (760 torr = 1 atm)
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. Na;SOs+ CaCl, > 2NaCl + C(Ca SO4

a. If 5.21 grams of sodium sulfate reacts by the abbéve reaction, what is the theoretical yield in grams of
the calcium sulfate ? { FW(NazS04) = 142.07 g/mo FW(CaSO04) = 136.15 g/mol } (15 pts)
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b. Will the reaction go as shown ? Consult the solubility chart & explam (5 pts)
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If T have 4.35 moles of the calcium sulfate , how many atoms of oxygen do I have (NA 6 022 x 10
z:
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€ balanced ionic e uatlon for the followm. N
NOT subscripts. (10 pts)

Pb (NOs);, + 2K Cl > ﬁl C@

3. What is the oxidation state of the fo OWIRE




4. Extra Credit (10 pts) Given the ideal gaslaw PV=nRT

If I'have 5.6 moles of a gas at 24.1 °C at 1.01 atm, what volume will the gas occupy ? (K =°C + 273.15)
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I BaCl, + 2AgNO;> 2AgCl + Ba(NOs),

a. If 1.25 grams of the barium chloﬁde,réééts by the above reaction; what is the theoretical yield in
grams of the silver chloride ? {FW(BaCl,) = 208.23 gmol FW(AgCl) = 143.31 g/mol } (15 pts)

b. Will the reaction go as shown ? Coﬁéﬁlt the solubility cﬁart’&explairi. (5 pts)

c. If I have 2.55 moles of the barium nitrate , how many atoms of oxygen do ‘I':havé (Na=6.022 x 102
2 (5 pts)‘ o ; - ' - - ,

2. Write the balanced ionic equatmn fprthé fOHowing; Note: ,tb'balancé RXN you change coefficients ‘

NOT subscripts. (10 pts)
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3. What is the oxidation state of the foﬂ()WiIag ? Either éxplainf()r show work. (15 pts, 5 pts per blank)
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4. Extra Credit ( 10 pts) Given the combined gas 1aw'

Thavea gas No at 7721 torr, at 298K ina closed area of vo
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lume 1.2 Liters. If the volume changesto 1.6

Liters and the temperature measures 278 K, what is the pressure in atmospheres ? (760 torr ‘=’, 1 atm)
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. NazSOs+ CaCl; > 2NaCl + Ca SOy

a. If 5.21 grams of sodium sulfate reacts by the above reaction, what is the theoretical yield in grams of
the calcium sulfate ? { FW(Na2S04) = 142.07 g/mol FW(CaS04) = 136.15 g/mol } (15 pts)

b Will the reaction go as shown ? Consult the solubility chart & explain. (5 pts)

C. If T have 4.35 moles of the calcium sulfate , how many atoms of oxygen do I have (Na=6.022x 10
23
=) 7 (5 pts)

2. Write the balanced ionic equation for the following. Note: to balance RXN you change coefficients
NOT subscripts. (10 pts)

Pb(NOs;), + 2K Cl = +
| 3. What is the oxidation state of the following ? Either explain or show work. (15 pts, 5 pts per blank)
Hy
S in SO,
Cin CO;?



4. Extra Credit (10 pts) Given the ideal gaslaw PV=pRT

If T have 5.6 moles of a gas at 24.1 °C at 1.01 atm, what volume will the gas occupy ? (K=°C+273.15)



